S

EEiay
(#8%5)

By
(#75)

By
(#75)

EEiEY
(#87%)
EEiEY
(#87%)
BEEiEY
(#875)
BEEiEY
(#75)

BEEiEY
(#75)

Eminy
(#875)
Eminy
(#87%)

BEEAY

(#75)

BEEAY

(#75)
ERiEY
(#75)
ERiEY
(#75)
By
(#75)
By
(#75)

E1HAE E1HAE F1HAK F2H4F F2H4F £2H40F

A

o%
s

Y
] (T

BRI
] (T

Eie)

&

10 8

10 B

10 B

10 8
10 8
10 5
10 5

10 B

10 5
10 5
10 5
10 5
10 8
10 8
10 5
10 B

Z=x s

BT
] TS

NGNS
NGNS

BS

H27 MR EELREtE 71—

f

10 8

10 B

10 B

10 8
10 8
10 5
10 5

10 B

15 &
15 &
20
20
20
20
30 #%
30 #%

BERI7+ {ERIZ+

IWE—%
£
BEN - ¥R
& (BER
=)
BEN - ¥R
ENER
)
=N
EBE
HHEEE
%
EEMEE
558
e
3Sh14t
V&
d=/\—
HILTH
1>
BAN - ¥R
&
ii%tﬁ
Z714IL
BEN - ¥R
&
NENEA
&

TEER 2
B E
R—L

R—3

W —%& RIFHARE

=
20 3
30 1
40 3
50 3
60 1
70 1
80 1
90 1
10 3
20 3
20 5
30 3
40 3
50 3
10 3
20 1

BRELD =
e dA EFXE

i

Tk



BEEiay
(#2%5)
EEiay
(#8%5)

BEEiay
(#8%5)

BEEiEY
(#87%)
BEEiEY
(#87%)
By
(#87%)
EEiEY
(#75)

BEEiEY
(#75)

BEEiEY
(#87%)
BEEiEY
(#87%)
Eminy
(#875)
Eminy
(#875)

BEAY

(#875)

BEEAY

(#875)

BEAY

(#75)
ERiEY
(#75)

By
(#75)

A7
L WS
S22
] (TS
S22
] (TS
Y
e
Y
] LT
BRI
] LT
BRI
] LT

BRI
] (TR

10 B
10 B

10 8

10 8
10 8
10 8
10 8

10 B

10 5
10 5
10 5
10 5
10 5
10 5
10 5

10 B

10 B

NGNS

[LERIL R

REBICZEK
(AP
HE
Bt
Bt

a2
= aFk

a2
= aFk

H27 MR EELREtE 71—

30 #%
30 #%

40 F

50 &
50 &
50 &
50 &

50 &

50 &
50 &
50 &
50 &
60 5
60 5
60 5

60 B

60 5

YA
BeFH

REER
$ERIIRE
==

o
RS
Z0H0
RS
£
BT RS
R
EHRE
T
e
238

e
L ES
rEas
Fay-:>3

AR
ZOH0
235

S BIIRE
e

1HRt
Fal)T4
BEEIER
AR
Yk
TEES
&
ks
1§l$

EE

10

20

30

35

40

50

60

70

80

10

20

30

40

50

Tk

ik

3k



BEEiay
(#2%5)
EEiay
(#8%5)
BEEiay
(#8%5)

BEEiEY
(#75)

BEEiEY
(#87%)
EEiEY
(#87%)
EEiEY
(#75)

EEiEY
(#75)

BEEiEY
(#75)

Emiay

EEiAy fe- A

(#87%)

EEiRy fe- A

(#75)

EEiRy fe- A

(#75)

BEEEL M- A

(#75)

BEEEL M- A

(#75)

BEEEL M- A

(#75)

BEEiEY M- A

(#75)

2%
e
RF5
1] LR
RF5
1] LR

i
] 0T
Wi
] 0T

BRI
] 0T

B

=
=
=
=
=
=
2

10 B
10 B
10 B

10 B

10 B
10 A
10 A

10 B

10 B

12 &
14 7
14 7
14 7
14 7
14 7
14 7
14 7

H27 MR EELREtE 71—

70 i
70 i
70 i

70

80 #%
80 #%

0 F

90 F

90 F

10 3
10 5
10 B
10 8
10 8
10 8
15 7f
15 77

$ibSIE e
HHER
B X - B3

<<

x =
B B E%
BEEXE
BERE
A

=~

<X=a7y
L
WA - 3R
&

BN E

EICED
=2, H
BHE
BELE
[ZE DK<
B4 LA
BAN - ¥R
H

B3
=
BE -
by
Bk

FHAE

THRESR

AEEE
EREE
BENER S
(14)

10

20

30

50

10

20

10

20

30

10

20

30

40

50

60

10

i



By
(#2%5)
By
(#8%5)
By
(#8%5)
By
(#2%5)
By
(#8%5)
BEEiEY
(#8%5)
EEiEY
(#87%)
EEiEY
(#87%)
BEEiEY
(#875)
BEEiEY
(#87%)
BEEiEY
(#87%)
Eminy
(#875)
Eminy
(#875)
Eminy
(#75)
Emiay
(#75)
Emiay
(#75)
ERiEY
(#75)

By
(#75)

By
(#75)

LA
=
LA
=
LA
=
LA
=
LA
=
LA

1 1A 1 A1 N O N 1 N 1 N

14 7
14 77
14 77
14 7
14 77
14 77
16 #&
16 #&
16 #&
16 #&
16 #&
16 #&
16 #&
16 #%
16 #%
16 #%
16 #%

16 %%

16 #%

AE

AT
VAT L
AT
VAT L
AT
VAT L
SIaFE
RS
SIaFE

e

AR 75
AR 75
AR 75
AR 75
AR 75
AR 75
e
HE
HE
HE
wHE

wHE

wHE

H27 MR EELREtE 71—

15 77
20 %
20 #x
20 #%
0F
0F
20 &
20 &
20 &
20 &
20 &
20 &
25 7
25 77
25 77
25 77
30F
30 &

30 F

B
B0
&
EAAFF
$—p

He 7SI
$—p
SRR

A

NEZE
$ibSIE e
5§

KERE

5 R R
FRF ]

AEEAE

A=

AN (3
)
@E0 (1
)
w5
b

TRR R
RN - #
=

B8 A%

ik
5—HHE

EEHE

30

20

30

10

20

10

20

30

40

50

60

10

20

30

40

10



BEEiay
(#2%5)
EEiay
(#8%5)
BEEiay
(#8%5)

By
(#75)

By
(#75)

EEiEY
(#75)

EEiEY
(#87%)
EEiEY
(#87%)
BEEiEY
(#875)
EEiEY
(#75)

Eminy
(#75)

Eminy
(#75)
Emiay
(#75)
Emiay
(¥75)

ERiEY
(#75)

By
(#75)

11 1

i
‘o

i
‘o

i
o

1 11 N 1 N

8175
8175
8175

8175

8175

16 %%
16 #%
16 #%

16 #%

16 #%

16 %%

16 %%
16 %%
16 %%
16 %%

16 %
18 &
18 &
18 &
18 &

18 &

HE
HE

BEERE

HER
BR-ft&
RER
HER
BR-ft&
RER
HER
BR-ft&
RER

BT B
BT B
BT B
wREE
wREE

52
B2
B2

B2

BEE-&
'

H27 MR EELREtE 71—

30 F
30F
40 &

50 B

50 B

50 B

60 7~
60 7~
60 7~
80 &
80 &
108/
108/
108/
108%/

20 &

ITHHE

ZDHhD
wHE

S IIRE
==

[=]

BENHRE
FEIRIR

R

BENHR S
A

KERE
BEN - ¥
==}

HFH
RER:Y

B85
=
FHEE
-3
HEeRE
BASH
NIES
s
B4R
H

[==]

10

20

30

20

30

40

20

60

20

30

40

50



EEiay
(#8%5)

By
(#8%5)
By
(#8%5)
BEEiEY
(#87%)
BEEiEY
(#87%)
By
(#87%)
EEiEY
(#87%)
EEiEY
(#87%)
EEiEY
(#87%)
BEEiEY
(#75)

Eminy
(#75)

Eminy
(#875)
Eminy
(#75)
Emiay
(#75)

Emiay
(#75)

ERiEY
(#75)
By
(#75)
By
(#75)

B ¥

B ¥
B ¥
B ¥
B ¥
B ¥
B ¥
B ¥
BA 7%
BA 7%

8175

8175
8175
8175

8175

8175
8175
8175

18

18

18

18

18

18

18

18

18

18

18

18

18

18

18

18

18

18

o T il 1 T o T my T my T by o m Tl

it

BEE-|&

BEE-|&
BEE-|&

IRA
IRA
IR A
IR A
IR A
IR A
X H

X H

¥ § ¥
Bo 3o Eo

H27 MR EELREtE 71—

20 &

20 &
20 &
30 #x
30 #x
30 #%
30 #%
30 #%
30 #%

40 H

40 H

40 B
40 B

40 H

40 H

50 7R
50 7R
50 &

B (B
B T i
#)

BE (%
BZR)
HARE

BmATE
=518
R IIRE
==

[=]

AR

A
AEEE
P
& H
P
mETPE
=518
ARPT A
PrEgE—
Ex
mHTPHE
TEE

S BIIRE
e

O

XHEE

THRRE
=
G EIIRE
==}

fifs & L 4
P
EmRE
Brift

30

40

50

10

20

30

40

50

60

10

20

30

40

50

60

10

20

30

ik



BEEiay
(#2%5)

EEiay

(#8%5)

BEEiay

(#8%5)

EEiay

%)
ﬁ%géﬂﬁﬁ
%‘%;%é AREZ
%fﬁ” FER4R
ﬁfﬁ” FER4R
B i
B
ﬁfﬁ” FER4R
ﬁfﬁ” FER4R
AR pemnu
ERHE perninw

]

18 5F
18F
18F
18F
18F
19 #
19 &
19 &
19 &
24 &

24 &

24

24 &
24 &
24 &

24 &

24 &

5>
3
1ot

k3
N
3
ik

k3
N
3
ik

EBRE

BEFHE
BESME
BESME

BEEME

BEEME

H27 MR EELREtE 71—

50 7R
50 7R
50 7R
50 7R
60 B
10 8
10 8
10 8
10 5

15

15

15

2 &'

3 %%
3 %%

3 %%

3 %%

MRS
s
SHFER
08

SR
B
WIRE S
RS
4046
==}

NHEE
TERE
RBELE
BXAE
B EE K
714l
BEMRER
FEHEN
HEME
BET
E-EE
BEfRE
B
H

BERR

AIEARH ED
FEEIEE
RiLIRRES
(53
=%)
FHFE
1t

35

40

50

60

10

10

20

30

40

10

20

30

10

10

20

30

40

ik



R
H

MR
EE

MR
e
R
B
MR
e
MR
e

E ﬁ EE Ell:.\

e
MR
S
MR
EE

SRR
By

MR
By
MR
By
R
By
R
By
R
2
R
H

R
EE

e s

RS

s
s
s
MRy

Y
HERRiR
HERRiR

HERRiR

HERIEY
HERIEY
R
R
R
R

R

24 &

24 &

24 &
24 &
24 &
24 &
24 &
24 &
24 &

24 &

24 &
24 &
24 &
24 &
24 &
24 &

24 &

BELMHK

BELME

RELH
St
St
2
2

a3
= aFk

gl |
gl |
gl |
gl |
Al |
Al |

HREE

H27 MR EELREtE 71—

3 #%

3 &

3 #%
48
48
5 7~
5 7~
5 7~
5 7~

5 7

1 1 S R 1 S

it

i

BELME
$CRSIRE
==

BELM
e
& %

N

JHBA@EN

FEER
p3I

a2
= aFk

ﬁnﬂ =
%”éﬁ%ﬁ

AR
HHER
MR IR
DRT L
HE=
BIR

RN - #
&

B4 -[E

Iz

b fE
EfE
KERE
]
HibiEk
&H
MRS
EZ2tE
R

50

60

70

10

20

10

20

50

60

70

10

20

30

40

50

60

10

11



oF
%
R
%
R
%
R
HY
R
B
SRR
18 24
TR
18 4
R
18 4
R
8 4
TR
L

e s

RS

s

St

HERRIEY

HERIEY

ReRRiE
ReRRiE
ReRRiE X

R

24 &

24 &

24 &

24 &

24 &

24 #

24 &
24 &
24 &

24 &

HREE

HREE

H27 MR EELREtE 71—

1HE

71HE

7HE

18

18

18

T8
T8
T8

T8

HAR & 3L
k9485
DBEHE
k=Y XA
WED&E
ME
BET S
mESH
FRET
BIEM
TELHW
5 D@
TSR EEE
=

BEE
AT
TE (BRI
BN -1k
HE-E
R&EH)
Z{TER
(BERE
F 1245
H-TH
Bk - B
EIWT
%)
LELR
I
TEHuE
I
HEERT
[F8
TEEIE
EH-IS%
HBIED
RE (X
B)#wE
==

20

30

40

50

60

70

80

90

100

110

11

11

11



R
H

MR
B

L REED

e
Lﬁﬁ&nh
e

MR
e

MR
e
MR
EE

MR
By

R
By

R
By

R
By

R
H

AR
EE

R

RS
s
s

MRy

MRy

HERRiR

HERRiR

HERIEY

R

R

R

R

24 &

24 &
24 &
24 &

24 &

24 &

24 &

24 &

24

24 &

24 &

24 &

24 &

FFRIAKER

FFRIAKER

FFRIAKER

FFRIAKER

FFRIKER

AR

FFRIAKER

FFRIAER

AR

H27 MR EELREtE 71—

71HE

1E
1E
1E

8 %

8 %

8 %

8 %

8 %

8 %%

8 %%

8 %%

8 %%

INRREE
FRAE
BEED
EEETE
=
3R1245
HREE

EEMHR

51k
B
a]-FRE -
AERRAT
Bk

1R {52 A&

B Eﬁ%
k435
T’L«%uq:
_.I- EF nH%
/£43%7L’
T—Liﬁ
n)s—r
EA451
IEZ"FDLF
_.I- EF nH%
,£56;|<0)
2 E 'i'/n
_.I- EF uH%
EEF'
‘ii

EER=

1%£85%1R
EREF T E

_si

EER=

l£867|<\
7586 M
25 &
R

120

130

140

150

10

20

30

40

50

60

70

80

90

11

11

11

11

11

11

11

11



SRR
2
B
%
R
%
R
%
R
HY
R
HY
R
B
R
L
SRR
18 24
TR
18 24
TR
18 24
TR
18 4
R
8 4
TR
=

e s
RS

R

s

s

St

HERRIEY

R

HERIEY

BeRRiE

R

ReRin Y
ReRin Y

R

24 &
24 &

24 &

24 &

24 &

24 &

24 &

24 &

24

24 &

24 &

24 &
24 &

24 &

HAER
AR
AR
R
R
AR
AR
R
B

R E
5

it

M RS R
B FF
B

i [k

BERE
BERE

hE B
SR

H27 MR EELREtE 71—

8 %%
8 #%

8 #&

8 #&

8 #&

8 #%

8 %

98

98

98

98

10 7
10 7

1MaE

%8652
EHESE
%8652
EER
%865 D
25REH
HE
%865 D
2RBEE
o
%865 D
8ERE H
HE

B EHIER
EREE
INYT2
1) —Z& 451
SRERE
g
iRA4251
IH4548
EZTE
R
iRA251
IH4548
EE
iRA251
IHAE1E
E &R
3RA251
154545
EHEE
A E 8\l
Bt

=
BERE
=
BERX

BREEZ

&Mk

100

110

120

130

140

150

160

10

20

30

40

10

20

10

11

11

11

11

11

11

11

11

11

11

11

11



R
H
MR
EE

MR

B
MR
e
MR
e
BREHERT
e

E ﬁ EE Ell:.\

B

EEEREED

e
MR
e

E % EE EII:.\

S

SRR

EE

L RER
By

R
By
R
By
R
2
R
2
R
2

2 EERERR

]

e s

RS

RS
s
s
MRy
MRy

Y
HERRiR
S
HERIEY

HERIEY

R
R
R
R
R
R

24 &

24 &

24 &
24 &
24 &
24 &
24 &
24 &
24 &
24 &
24 &

24

24 &
24 &
24 &
24 &
24 &
24 &

oh 5 1
SEH

oh 5 1
SEH

oh 5 1
SEH

TREE
TREE
TREE
TREE
e
SR
SR
e

BERAE
&

L%ﬂ-ﬁ

H27 MR EELREtE 71—

11

Tt

11

it

11

it

12

12

12

oOEE B B

12
13 %%
13 %%
13 %%
13 %%

14 8

14 8
14 8
14 8
14 8
14 8
14 8

REFH
HEE
AEH S
HERH

JFE %n%
HE
Z‘HE%E
ARE

FEAE
FIRE
Z Dt
EiRN
EiFEE
FIRE

xa2lil
- RIA
TR
(%28
@A

WA (5
MR E)
BN (ZF
D)

AT A
E+ 38
KEZRE
Edfa kP11
KEER®

20

30

40

10

20

30

40

10

20

30

40

10

20

30

40

50

60

70

11

11

11

11

11

11

11

11



Lﬁﬁgﬂh
B2
BEER
824
BEEDR
824
BEEDR
1824
BEMER
8
BEMER
8
BEMER
824
BEMER
824
BEMER
824
BELRZS
82
BELRS
82
BELRe
8
BELRe
8
BELRe
8
BERe
8
BERe
8
BERe
8
BERe
8
BERe
B

FEREY
FEREY
FEREY
FEREY
FEREY
FEREY
FEREY

REy
e
BERE
BERE
BERE
BERE
BERE
BERE
BERE
BELE
BERE
BERS

24 #&
24 #&
24 #&
24 #&
24 #&
24 #&
24 &
24 &
24 &
30
30
30
30
30
30
30
30
30

30

H27 MR EELREtE 71—

14 H
14 8
14 8
14 8
15 7&
15 7&
15 7%
15 7%
15 7%
10 5
10 5
10 5
10 5
10 B
10 B
10 B
10 8
10 8
10 8

BHEITE
£

B iEITIR
Al

B E1TH
Al
EE
FHk
EREE
mREE
FlERE
mREE
SETHRE
BREE
Z D1t
TEER
MEF
714l
BAN - ¥R

f&-E

A#eY
FEDH

Of

i

ERRE
EamE

Z 0t

80

90

100

110

10

20

30

40

50

10

20

30

40

50

60

70

80

90

95

11

11

11

11



H27 MR EELREtE 71—

11 7 f=-H 20

20 7 Eﬂ'*& 10

20 7 f=-H 20
BETH

20 7R TRIA 30
jzh?r@

21 & E*”'*ﬁ 10

21 & Eﬁ-@ 20

21 & & 30
B HAE AR

21 & (@) @ 40
&0
KRESR

21 &F BAY{4-BR 50
=

= A AlnzE

21 5 P 60
EHHRE

21 & £ Ef 70
BRfRE
= H

21 HHE Eﬁﬂ#&n 80

= TE B RS

21 & #}EE%%%E 90
o= (18

21§ B)5ET 91
wmEE

218/ KExEE 100

218F RS ERE 110

Z0fth

i



Eﬁfé =
1A BER%E
BELE

10 BER%E
BERe o
49 BELE

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

El
Rl
¥
B

=
R
¥
5

L
m ¥
# B

b3

I T S
mom o b
SR B A

A
It
P

A
It
P

X
~

b3
P

e

b3
P

FA
[
b}

DA A
[
HOK R

HGHJHTHT #T HFHTHTHT 6T #F 4T 4347 2
m?ﬁ ~.
3

H27 MR EELREtE 71—

22 &
22 &
22 &
23 #
23 #

23 #%

23 %%

23 %%

23 %%
23 %%
23 #x
23 %%

23 #%

23 #%
23 #%
23 #%
23 #%

S IIRE
=)
B[
=

=]

i 2= 52

PR ER

B=ET
THRE
EXE
JA0—
7
S\ EERA

L
EHEAN
R—Lm
=
@A
MeER MR
HBIER
=
o)—=
/B =Y:
PREAO &R
RE
RENEES
=77
h—Lm
=
=TIl
IREE AR
fmbk-52
BT R R
FTARZR
[

M

20

30

10

20

30

31

32

33

34

35

36

37

38

39

40

50

i

w W w w w
R

w

w W

w

i

O O M

Tk

I O M



BERE =
47 BERE
BERE =
a3 BERE

BERe o
102 BERS

BERe =
10 2 BERS

BERe =
10 2 BERSe

BERe o
0 BERSe

BERE

1 BERE
BERSe =
4 2 BERe

BERE
1 BELS

52 puwe
52 puwe

BERe
47 BERe

TR pawwe
PR pwwe

PR pwwe
B2 pans

BERE =
49 BERe

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

BELE
ks
BELE
Bl
BELE
Bl

BELE
kS

BELE
kS

BELE
kS

HIRE
HIRE
BEIRE
HEIRE
CASBEE
CASBEE
CASBEE
CASBEE
CASBEE

CASBEE

IRIETERE
RHIE

30

30

30

30

30

30

40

40

40

40

41

41

41

41

41

H27 MR EELREtE 71—

O
O
i
i

I T TF Ty T

i

BEN - ¥R
&
B&-E
&
fBELE
S
Z{tE
fBFELE
HE
N7
U_/fn-l'
BREHF
Z{tE
AU b4/
|)—&Et
%%E$

al
EE - $R

BiH%2
5%
i
£1- 4§

Of

I}

B
I3

]

~

Bl

e b
=l

@ E W ORIk
4 EE WHEE S
ol O 4B
—| W

394

Of fai B0 H
=

10

20

30

40

60

70

10

20

30

40

10

20

30

40

50

60

10



30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

IREEMRE
o E
IRIEEEE
= E
IRIEEEE
= E
IRIEEEE
TREIE
By
A9k
By
A4k
By
1%
By
1%
By
A%
EHER
FE
EHER
FE
EHER
FE
EHER
FE
EHER
F=E

REER
FE

HP

e ko
&
HBTEEE

H27 MR EELREtE 71—

42 &
42 &
42 &
42 &
50 #%
50 #%
50 #%
50 #%
50 #%
60 B
60 B
60 B
60 B
60 B

60 B

95
96 F

97 &

>
=

EE WHEE i
w I
M

o
f=1
p=n]

EE ﬁﬁﬁg i
g

TH]

I
Ih 4

i

DI*F'#W%& Bl STEIINGRORE B @ M ONGR

R
KR
EEL S
HP

B
&

H BT

20

30

40

50

10

20

30

40

50

10

20

30

40

50

60

10

10

10

11

11

11

i



BERE
EE

EEiay
EEiay
EEiay
EEiay
EEiay
EEiay
BEEiEY
BEEiEY
BEEiEY
Emiay

Emiay

BEEEY

ERiEY

ERiEY
EREY

EE(E
)

EE(E
)

BEE(E

EE(E
)

30

40 75
40 75
40 75
40 75
40 F
40 F
40 F
40 F
40 F
40 F

40 7

40 Fr

40 7R

40 7
40 Fr

H27 MR EELREtE 71—

BiHiR

e % #
e 2 7
£ 2 7R
£ 2 7R
£ 2 7R
£fi% 2 7
£fi% 2 7
e 3F
e 3F
RE 6 B
BRE 6 B
BRE 6 B
BRE 6 B
BE 6
BE 6 &
BE 6 K

ISR
E-/\k
A—JLEE
SCb IR

==}
=

Bx-E
I

o~
[=]

BEAR
THER 2B

=i
OB

o
=
54

)
@

ol 3 58 O [ ok

B
58
" ot

PERE
Z {18

REFL
ZENEL

20

30

40

50

90

10

20

10

20

30

40

50

60

11

11

11

11



EEiay

EEiay

EEiay
EEiay
EEiay
EEiay
EEiay

BEEiEY

BEEiEY
Emiay

Emiay

Emiay
EEiay
ERiEY
ERiEY
ERiEY

EE (2
)
EE (2
&)

B (2
&)

B (2
)
EE(E
&)

EE(E
&)

EE(E

40 7R

40 7R

40 75
40 75
40 F
40 F
40 F

40 7

40 7
40 7

40 7

40 Fr
40 Fr
40 7R
40 7R
40 7R

H27 MR EELREtE 71—

B®RE 6 5
B®RE 6 8
ERE 77
ERE 77
EREF 7 5
EREF 7 5
EREF 7 5
BEREF 7 7
BEREF 7 7
BERE 75
BERE 75
ERF 75
ERF 75
ERF 75
FREE 8 F
=R VAYN

o—L 108

BALDFE
5IYE
BISE T &
BALDFE
BIYE
BISE T &
28

B IIRE
==

|

D
ng:@
=

EREE
ME L
EREE
MERE
SEiEE
e
%1225
B
SFitE
R
A
5
Bas
NEREY
i
HAK- 12
= .55
BRI
2588
Z 0
R

£ =
Fo FER

BEE

80

90

10

20

30

40

50

60

70

80

90

100

110

120

10

10

11

11

11

11

11



F¥E
£-EF
B

R
E-HF
B

¥R
£-HF
Bt

R
£-KEF
B

R
£-KEF
B

¥R
£-KEF
Ei7E
¥R
E-HF
B
R
E-EF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
BiE

R
£-HF
BiE

R
£-EF
BiE

R
£-EF
BiE

R
E-EF
BiE

R
E-EF
BI7E
R
£-EF
EiE
R
E-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

I\ T
IN
nrl:.\a'%

W%

H27 MR EELREtE 71—

= HIEHIR

58

(F1m$
)
58

(F2m$
)
58

- ySIRE: e

(E3m$
)
58

- ySIRE: e

(F4my
)

LA,
& W%

=-EF

2 A

n AEHER

7

10

20

21

22

23

30

40

50

60

70

11

ik



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B

R
£-EF
B

¥R
£-EF
52
R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
Bt

¥R
£-EF
i3

¥R
£-EF
B
R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

H27 MR EELREtE 71—

18

18

18

HREIE
DRTE

2D
RO I

Jm

ITHEAE

XEHIE

XER
- #E

XER

=-EF

XEEHE
Bk

XERT
(51#) &
i3

NEHE
IRFER

1EERBHR
ER-R
@A
(BF)

&R B~
ER-R
TEEH
(FA%)

1EERBR
£h%

90

100

110

10

20

30

40

50

60

70

80



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

NGNS

[LERIL R

[REEIL R

NI

NGNS

NGNS

EE-R

it
it
%

ik 5
it
%

P
%

P
%

mt BR mt ARt B

H27 MR EELREtE 71—

3 #%

3 %

3 %

3 %

3 #%

3 #%

4 Fr

4 F

4 F

4

4 Fr

5H

5H

NGNS
Bl

ILEEILER
E%%ﬂ-#&

REE AR
B2

b

o~
[=]

FOEE
&Y

#iE-T
LeE

BRIE -2
£

EE-R
EHIR

B
Z5EA-
e
B2
EEL-
EES
EEE
Y]
ZOHD
EE-i2
=

AEHIR

AERE
- EE

10

20

30

40

50

60

10

20

30

40

50

20



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
B

¥R
£-EF
B

¥R
£-EF
EiE

R
£-EF
B
¥R
£-EF
B
R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BiE

R
£-EF
Bt

R
£-EF
EtE

¥R
£-EF
B
¥R
£-EF
B
R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

AEE2f

ASE2MH

wHE

wHE

wHE

wHE

JEEE-
EREF I B

JEEE-
EREF I B

JEEE-
FREF I B

AR 7%

AR 7%

AR 7

H27 MR EELREtE 71—

58

58

18

18

T8

8 %%

8 %%

8 %%

AER
ERIEIES

AFFHE
VAT L

HHEBIR

HHE B
ySIRE: 4=

HER
=-EF

ZDHD
wHE
JEEE-
R B
BlR
JEHEE-
R B
RN - #
=
JEEENER
I I B
SRz

@

AR 7545135

KiRE

BHEES
EHRIR
FESE

30

40

10

20

30

40

10

20

30

10

20

30



H27 MR EELREtE 71—

F¥XE BXEE

F-KF E-EP 50 HwE 9 Jr 5 HIFR 10
EiE EifE

BARE  BIRE .

£-MFE E-HF 50 ws 9 I %Eﬂlifi 20
EiE EifE =

mRE xR wom

£-BF £-HF 50 5 9 7 o E 30
MER Ik .

SHFEE  FHRE a

FHE R 50 @ 9 7 A, 40
MEE Ik

SHFEE  HEER &

EHE EAE 50 @5 9 7t B 50
EI7E EI7E o

FFE BEARE

F-FR E-EP 50 k& 10 7& REBIFR 10
EiE EifE

BIRE BRAXE e

£-HF F£-HF 50 & 10 7% %u_ﬁfifi 20
MEE Ik )

SHFEE  HEE

E-PF E-EF 50 &= 10 7% Kﬂﬁﬂi 30
EIE EitE = =8

E-MFE E-HF 50 &1 10 F s arT 40
EIE EitE

BIRE RAXE

g-FE FE-EF 50 &= 10 7R BaE 50
i E i tE

AR MR -

£-EF E£-BF 50 EREA 11 B 1;1';5; 10
i E EitE

BIRE BRAXE EREE

E-EF F£-EF 50 BAELE 11 8 AN - $R 20
i tE EitE &

BRE BRAXE EREE

E-FE FE-EP 50 =REE 18 EE'%'#& 30

52 Bt =



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

f2REE

BEERE

#£%F-B
=

#£%F-B
=

#£%F-B
=
#£%-B
EUES
NHYE
DNHYE

DNHYE

N3
Bo

3
Ao

3
Ao

N3
Bn

H27 MR EELREtE 71—

125

125

13 &

13 &

138

138

14 %%

14 %%

14 %%

15 7

15 7

15 7

15 7

fEREE
Bl

fEREE
$ERSIRE
==

[=]

HFBIR

R3]
3]

s
B2
51 5
s
BRI
2 B
N
bliz

NHEME
RN - #
==}

=
NHYE
B&-E

paa

[=]

Y Eu IR
LT3
ySIRE e

[ ]

an AR
A, Ly
ray @l:l

BiER L
0T FA#K

10

20

10

20

30

40

10

20

30

10

20

30

40

3k



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

BELMHK

BELME

BELME

H27 MR EELREtE 71—

16 B

16 B

16 &

16 &

178

178

178

178

178

178

18 &

18 &

18 &

IR

G BIRE:
=®

BB
BEER
HLURE
#E
A#RFEE
HE-R
JIARE
AEFEDFE
7

Z 0t

By

10

20

30

40

50

60

10

20

30

11

ik



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

BEEHE

BESH

BESEH

BESEH

BEEH

BEEH

BEFHE

MEtEHE
F

MEtEHE
F

Rt
%

HEtEHE
F

H27 MR EELREtE 71—

18 &

18 &

18 &

18 &

18 &

18 &

18 &

18 #

18 #

19 #%

19 #%

19 #%

19 #%

=FW

2 FHT

= RHET

=] b

Wi

JEAR™H

BET

RERHET

Z 0t

BERR

AIEARH ED
FEEIEE

2ENH
REARET
EREE
F{ESE
g

40

50

60

70

80

90

100

110

120

10

20

30

40



F¥E
£-EF
EiE
R
£-EF
B

¥R
£-HF
Bt

R
£-HF
B

R
£-HF
EiE
R
£-KEF
Ei7E
R
£-HF
B
¥R
£-EF
B
¥R
£-EF
B
R
£-EF
B
¥R
£-EF
B
R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
BiE

R
£-EF
BiE

R
£-HF
BiE

R
£-HF
BITE
R
E-EF
BI7E
R
E-EF
EiE
R
£-EF
EiE
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

HEtRE
%

et E
F

s
%

ar

=F

fREtalE
+

T IR S
T IR S

T Bl S

H27 MR EELREtE 71—

19 #%

19 #%

19 #%

19 %%

19 %%

20 7%

20 7%

20 7%

21 B

21 B

21 B

21 B

BELE
FERTILA
158
BMEEF
DELX
THRHE
EERALE
EEDE
L3+
HE
BEAR
RS
AEAER
THRHE

Z0ft

RifReE
LMD
ARIE T

HERE
YD EH
Z Dt
BEODE
&

o5 —

BN

BEEE
=

BRI
AHER

50

60

70

80

90

10

20

30

10

20

30

40

i

i

i



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
B

R
£-HF
B

¥R
E-HF
B
R
E-EF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BiE

R
E-EF
BiE

R
£-EF
EiE
R
E-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

21

21

21

21

21

21

21

21

21

21

21

21

H27 MR EELREtE 71—

=

=

BEXE
VAT L
mHE=

TR
%%%Eﬂ%

ray
FEITIR
zﬁﬁeﬁ%

55
BT
%%%Eﬁﬂ%

~
BEYY
A%
B ERE
HET
Avo=
EEHX
#AHITH
%fﬁ%’rﬁ%

=

RiRR

=i

FREER
=ERAE
sl
FREER
SHRER
'H
FXEE
=EH

&I

50

60

70

80

90

100

110

120

130

140

150

160



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

H27 MR EELREtE 71—

21 B

21 8

21 8

21 8

21 8

22 F

22 F

22 F

22 F

22 F

22 F

22 F

22 F

RS

BELTE
RSy

EERER
AT L

HRE

- A
MR

INYT2
I)—i&

L SUE
1E

R EEd0)
F5IKY
151

INYT2
1)—&ry
oy d

170

180

190

200

210

10

20

30

40

50

60

70



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

H27 MR EELREtE 71—

22 F

225

225

225

22 F

22 F

22 F

22 F

22 F

22 F

22 F

22 F

23 &

WEN- 3R
& RE
Z2E)
WEN- 3R
£ (& h
BimEn)
WEN- 3R
& (2%
EHEE)
AN - R
&H(ZD
fh)

fE&-m
Z(EE
ZEF)
fE&-m
% (#f
BEER)
B&-MA
& (2%
EIER)
B&-MA
(D
fth)

[==X4¢<Y
=X
<<

Py

=L

LSRR
EfE

Z 0t

REBER TR
e
15

90

100

110

120

130

140

150

160

170

180

190

200

10



H27 MR EELREtE 71—

F¥XE BXEE

=) i
R EE 50 RAEE 23 % o 20
EI7E ET7E R
R¥xE HEE BE LA
E-MF F£-BF 50 HREE 23 & WE D& 30
EI7E ET7E Mz
R¥xE HEE
E-MF E£-BF 50 HREDR 23 & FERR AL 40
BT ET7E

b o =3
MRE  mMRE e
E£-KF £-EF 50 HREDR 23 & btyrafoya 50
ET7E ET7E JSFE"

b oo sy
MEE  pRR e
£-EF £-BF 50 HREE 23 & A=Yy 60
BT ET7E = =

b oo sy
MER  pRR e
£-HF £-MF 50 HRER 23 & el 70
B BE )

bl

e ERER
FHE BRE TRE MRS
E-MF £-BF 50 HREE 23 & RESI% 80
Bi BT BEN (

HRE)

e ERER
MRE BFXER BRERMER
E-HF F£-BF 50 HREE 23 & BRE5%Z 90
i Bi B (52

TRE)

e ERERR
MFE BFHXZ BRERMER
E-MF F£-BF 50 HREE 23 & BRERR 100
ET7E ET7E & (F

HRE)



F¥E

£-HF

B
R

£-HF

EiE
¥R

£-HF

Bt
R

£-KEF

B
R

£-EF

Ei7E
¥R

£-HF

B

¥R

£-EF

B

R

£-EF

B
¥R

£-EF

B
¥R

£-EF

52

F¥E

£-HF

BiE
R

£-HF

BiTE
R

£-EF

BiE
R

£-EF

BiE
R

E-HF

BI7E
R

E-EF

BiE

R

£-EF
Bt

¥R
£-EF

B

¥R
£-EF

B

¥R
£-EF

Bt

50

50

50

50

50

50

50

50

50

50

H27 MR EELREtE 71—

23 &

23 &

23 &

23 &

23 &

23 &

23 &

23 &

23 &

23 &

15 7€ TE 2
REHE
RERR
HE (52
TRE)
LB E
B2 AT
Bk
B E
B IR EEE
=

g
R
RSt
e

e |
RitE

EER=
B

e

ZTE R
(BERE
1245
H-T%H
HyJE - EA
FEET
)
122518
REE

HELE
f&

TEHuE
I

110

120

130

140

150

160

170

180

190

200

11

11

11

11

11

11

11

i

i

i

i

i

ik

Tk

Tk



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B

¥R
E-HF
EiE

R
£-EF
B

¥R
£-EF
B
R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
Bt

R
E-EF
EtE

¥R
£-EF
i3

¥R
£-EF
B
R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

TTRE

hiERE

H27 MR EELREtE 71—

23 &

23 &

23 &

23 &

23 &

24 %%

24 %%

24 #x

24 #x

24 %%

24 %%

25 &

HREIRT
i

B MM

#2845
EN

i = 52

S

Z0ft

ETRE
F2ZMA
i

T TRE
RIEE

=

REFL

REFL
EXMT

ELHVE

OFCFSIE=
KEEE
TEME
BREEE
FHEEE

Z 0t

hiERE
FRMAE
R

210

220

230

240

250

10

20

30

40

50

60

10

11

11

11



F¥E
£-EF
EiE
R
£-EF
B

¥R
£-HF
Bt

R
£-HF
EiE
R
£-HF
EiE
R
£-KEF
Ei7E
R
£-HF
B
¥R
£-EF
B
¥R
£-EF
B
R
£-EF
B
¥R
£-EF
B
R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
BiE

R
E-EF
BiE

R
£-HF
BI7E
R
£-HF
BITE
R
E-EF
BI7E
R
E-EF
EiE
R
£-EF
EiE
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

hfERE

hiERE

hfERE

HERE

BMEEF

R

BREF

R

BREF
F&

BMEEF
F&

ER (2
)

ER (2
)

ER (2
)

2 R (B
)

H27 MR EELREtE 71—

25 i

25 i

25 i

25 &

26 B

26 B

26 B

26 B

21 &

21 &

21 F

28 &

HhiERE
Rz

EER=
HERE
B&AE
HERE
B8 E
RftTE
NAY=10))
E A
Z Dtk
BERE
MEER
EHE

e
=
=

EERE
BMEZ

Z Dt
EREE
BiEE
ERGEE

Z 0t

= HET

30

40

50

10

20

30

40

10

20

11



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

E I (B
F)

TREER

TREE

TREE

TREE

ARERELH

S

ARENELH

LY

BRIy

ADIViE

BRUY
A9k

BRI
A9k

BRI
A9IVik

H27 MR EELREtE 71—

28 i

29 &

29 &

29 &

29 &

30 #%

30 #%

30 #%

30 #%

31 7R

31 7R

31 7R

31 7R

W T

TREE
FRE

Z0ft

EiRN

EiFEE

HIRE

Z 0t

53 R FRAK
FEHE

Z Bk

BENEZ

&Mk

BHE-
BHE(4
A)
[EHE-
BHIEG
A)

20

20

30

40

10

20

30

40

10

20

30

31



H27 MR EELREtE 71—

F¥XE BXEE EHE-

%Sé;gﬁ %ﬁﬂfﬁ 50 %,;%BIZ 31 7 is)%u%m 32
Dr Rer 50 2y 31 5 ety

G B 1o roooRET®
MR MRER . Gy

%IE*?F' %%EUF' 50 Lk 31 = EE)%DE (8 34
MR MRE —_— Gy

%IE*?F' %%EUF' 50 Lk 31 = EE)%DE (9 35
Sir Zir 50 By 31 9 ey

G B 1D (s »
g%‘i&_ gﬁfﬁ_ 50 )Y 31 7 Egji(-] 37
B B 1D YA

RxE RxEER G Eﬂji

E%%:E*?F ::’g;gz;: 50 7 31 7 ,zaﬁfu)s (1 38
iﬁﬁ_ Eﬁﬁ_ 50 2y 31 7 Eiﬂ Em 39
B B 19 A

xE MRxERE G Eﬂji

;’&;gw %&;gp 50 PR 31 7 %E)iua (2 40
MR MR i EiE-

%&;g‘?}: ;%IE%F 50 Pyt 31 7k ;};]E)%DE. (8 41
i B PE. B

HE/F' HE,F- 50 LIk 31 5 ;%nnn 50
ngfﬁ ngatz% 50 T 31 5 HEE 60
BifE B

ng#zﬁﬁ :gf*zﬁﬁ 50 %,;%BZ 31 7k %gﬁﬁ 70
B B



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

RERUY
153k

BRIY
ADIVik

BRIy
21%"

BRIy
21%"

BEUYy
1%~

&

&

&

&

&

&

&

&

H27 MR EELREtE 71—

31 K

31

31 F

31 F

31

328

328

328

32 8

32 8

32 8

32 8

32 8

ERE R

TEHEUE
[

ENERE
—F/\k
O—)L%
ZDfth
byl b
BiTS
(#&81)

EAN

WA (5
M E)

BN (Z
D)

kgt

5
KEBRE

80

90

100

110

120

10

20

30

40

50

60

70

80

11

11

11

11

11

11

11

11

11

ik

i

i

Tk

Tk

Tk

ik

ik

3k



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B

¥R
£-EF
52
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
i3

¥R
£-EF
B
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

R
&

BEAAE
&

EEEAAE
&

EEEAAE
&

AR
&

AR
&

AR
&

EERRE
&
ZERID
ZERID

ZERID

ZERID

H27 MR EELREtE 71—

32 5

32 8

328

328

328

328

328

328

IBE

3BHF

3BHF

3B3HF

BT
i

R AT
2l

1S
FEk

R
B

?br‘-g}]-—'—-

B AE Gt JE
RS
& E MERE
ST i BY
EEDM
BRI
ik
ZDth

RN - #
&

m
ik |

B[

I}

REEE
WylZxtd
BT AN
AMRAE

Bk EE

90

100

110

120

130

140

150

160

10

20

30

40

11

11

11

11

11

11

11

ik

i

i

i

i

i

ik



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

Ei=he YAV
A—J)L

Ei=he YAV
a—)L

Ei=he YAYN
a—)L

F¥EE
A%

F¥EE
A%

FRES
£fi%

FRES
£fig

e
EEMR

ER AT
EEMR

H27 MR EELREtE 71—

33HF

34 &

34 &

34 &

35 #k

35 #%

35 #x

36 7~

36 7~

36 F

36 F

37 8

37 B

Z 0t

BIR

RN - #
&

m
ik |

B[

I}

Z Dt
BEE
#E-RHE
AR HARS

Bl

50

10

20

30

10

20

30

10

20

30

40

10

11

i

11

i



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

#HEE
P

ERT AT E
EEMR

ERTATE
EEMRK

ERTATE
EEMRK

HEE
EL

ER AT E
EEMR

ERT AT E]
EEMR

HhiEtE
Ee M

ER T AT E]
EEMR

HhiEtE
Ee

#

#

T

H27 MR EELREtE 71—

37 H

37 8

37 8

37 8

37 8

37 8

37 8

37 8

37 8

37 8

38 F

38 F

38 F

$CRSIRE
=l

B[
ke
=]

BT
>

B 5

5558
=

PR A
THER R
T L

EawE

CE
AEARER S
=

B e
£ (29
%)
FrAl
HE(29
&Ly

i

30

40

50

60

70

80

90

100

110

120

10

20

30

10



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B
¥R
E-HF
B
R
£-EF
B
¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
EiE
R
£-EF
EiE
¥R
£-EF
B
¥R
£-EF
B
¥R
E-EF
i3
¥R
£-EF
Bt

50

50

50

50

50

50

50

50

50

50

50

50

50

Al

Al

Al

Al

A

A

Al

Al

Al

T

#

#

AR Al
HEX

H27 MR EELREtE 71—

38 F

8 H

8 H

8 H

8F

8F

8 F

8 F

8 F

38 F

38 F

38 F

39 &

TR
BEMNE

BRI T
ZftE

THERY
PHEE
58

IS=ETF
BEMNE

FRRE
{KEEZ 4T
&
BREX

iE-TE

TTAE

T
HRAE S

1156
REH

1250
REH

R IEE
=

e

4

EHEL A
'H

Bl

40

50

60

70

80

90

100

110

120

130

140

150

10



F¥E
£-EF
EiE
R
£-EF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-HF
EiE
R
£-EF
Ei7E
¥R
£-HF
Ei7E
¥R
E-HF
B

¥R
E-HF
EiE

R
£-EF
B
¥R
£-EF
B
¥R
£-EF
52

F¥E
£-EF
Bi7E
R
£-HF
Bi7E
R
£-EF
BiTE
R
£-EF
Bi7E
R
£-HF
BI7E
R
E-HF
BI7E
R
E-EF
BI7E
R
£-EF
Bt

R
E-EF
EtE

¥R
£-EF
B
¥R
£-EF
B
¥R
£-EF
Bt
AT L
E

AA

50

50

50

50

50

50

50

50

50

50

50

50

AT 45
HEA

A7 45
BEA

A7 45
BEX

A7 45
BEX

X
I

3]

:
)m
I

%
N
I

%
N
I

%
N
I

%
)m
O

i
S
O

i
i
O

L2 ECE

H27 MR EELREtE 71—

39 &

39 &

39 &

39 &

40 #%

40 #%

40 #x

40 #x

40 #x

40 #x

40 %%

40 #x

1

$CRSIRE
=l

B[
ke

=]

BREMH

=5 I —] =
EEEEF’EH

&
BRET
R
&
BT 4
B A 2
5
LEHA

SRHEE
BREFL
RS

NERTR

LA B
AEEHR
=

BT

£

20

30

40

50

10

20

30

40

50

60

70

80



